OG

481 3.95
174 = - 162 -y 1.20 ¥ 1
r-A_v‘;’E—,}E_ _qq=l_
e Nebengebdude
E Nebengebiude
19.07m? (3.95x 5.91
L i 28.48 m? (4.81 x 5.92) m? (3.95x 5.91) 1
o P ) |
o~ @ m S~ =
o 3 /
g { \
e L Ne ide 3.68 3
. i F 153y f1.29 02y
x _‘F_
- 5
. Nebengebiude 8
}: 2 T 30 N A 1372 m? -
I o (TS 106 oy 3.39 x 4.05
— 481 1.06 #— 277 —J 3.68%4.05 N
nzimmer \
Esszimmer :9 9:; e © o > _‘r)
gegl o4 T 3.65 % 5.46 = <
i) 2.84x5.40 / L
r D
;/ -
~ 8 Nebengebaude “]
- 7.82m*(3.67 x2.13)
e —
Schlafzimmer i \&
1032 m2 : : :
2.86x3.62 ¢ 2 T Nebengebiude
N 11.98 m?
12.56 m* 2
3.67x498 5 3.69 %326 Selriengebaude %
o 18.59 m? &
&y L 3.38x554 e
2N = y 1
Spielzimmer L 3
9.49m* / 2 o~
2.87x331 N - —4' J
2 T Nebengebaude [
Kiiche S Schlafzimmer 2 = & 58.92m? (7.19 x 8.21) N
9.60 m? A 18.22m? d 5 J
287x3.34 2.69x6.79 l rp i
=
& /
- b ]
L il c
r Ba T 1
Schlafzimmer ©
714 m? [
o -
Schlafzimmer £b0 2310 bar
12.66 m? : L
2.85x 4.47 J
4 Nebengebaude
r~ 35.62 m*(5.07 x 7.03)
3

o
o

05

8.20




